Electronics I * Exam II * April 29,2010 * 70 minutes
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(40 pts)
1) Find the transfer function of the circuit given below. Indicate what kind of a filter it is (i.e.,
h1gh -pass, low—pass band- pass) Put the transfer function in the form as follows:

(as’ + bs +c)/(s + sw,/0 + 0.).
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2) Find the oscillation frequency and oscillation condition for the circuit given below:
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3) A coil having an inductance of 10 uH is intended to be used around 1-MHz frequency. Its Qis
specified to be 200. Find its equivalent parallel resistance R,. What is the value of the capacitor
required to produce resonance at 1 MHz? What additional parallel resistance R, is required to

produce a 3-dB bandwidth of 10 kHz? . 4
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